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Multiple Choice Questions
1. The primary objective of the purchasing function is to:

a) ensure an adequate turnover of merchandise.

b) acquire enough stock to ensure uninterrupted sales or production.

c) determine the "best" possible price for both supplies and finished products.

d) maximize carrying and set-up costs for the firm.

Answer b
(The Purchasing Plan 

Page 546)

2. The small company’s purchasing plan is closely linked to which of the other functional areas?

a) Marketing and sales

b) Finance and accounting

c) Production and engineering

d) All of the above

Answer d
(The Purchasing Plan 

Page 546)

3. Managers have discovered that a quality approach to doing business:

a) is much more expensive than a nonquality focus, but worth it.

b) can lower employee turnover, increase market share, and decrease costs. 

c) is easier to achieve than expected when TQM is implemented in an existing business.

d) works in manufacturing but is not applicable to the purchasing process.

Answer b
(The Purchasing Plan


Page 546)

4. Total Quality Management (TQM):

a) defines world-class quality as 95% defect-free products and services.

b) has been implemented by about 90% of all American manufacturers and is now moving into the service industry.

c) relies on an army of quality inspectors to ensure that products and services meet quality targets.

d) is a lifelong process of continuous improvement that focuses on doing the job right the first time.

Answer d
    (Total Quality Management 
Page 548)

5. As a solution to a company’s quality problems, managers will find that TQM:

a) may be implemented without significant training of employees.

b) takes 3–4 years to bring about a significant change in quality.

c) techniques can be implemented piecemeal, one-at-a-time.  

d) creates little turmoil or change in the way a company does most of its business.

Answer b
    (Total Quality Management 
Page 548)

6. Research on the implementation of TQM programs shows that it takes _____ to completely implement a TQM program.

a) three to four years

b) eight to ten years

c) six months to two years

d) one to three years

Answer b
    (Total Quality Management 
Page 548)
7. A small business owner needs to do which of the following well in order to successfully implement a TQM program?

a) Focus on production and manufacturing.

b) Set a “finishing line” for the quality effort.

c) Move from a management-driven to team-driven company culture.

d) Modify the rewards program to reward individual effort and innovation.

Answer c
    (Total Quality Management 
Page 548)

8. Successful Total Quality Management (TQM) requires:

a) training employees in the use of the tools of statistical quality control.

b) directive management, providing clear quality direction.

c) thorough and complete quality inspections.

d) holding middle management responsible for the results.

Answer a
    (Total Quality Management 
Page 548)

9. Quality improvement efforts must ultimately focus on:

a) the product.

b) the customer.

c) the manufacturing process.

d) the purchasing process.

Answer b
    (Total Quality Management 
Page 548)

10. TQM:

a) instills the philosophy of 100% inspection of all products.

b) provides a “finish line” for the race for quality.

c) avoids placing blame and focuses on fixing mistakes.

d) makes middle managers responsible for product quality.

Answer c
    (Total Quality Management 
Page 548)

11. Critical to TQM is:

a) management competence.

b) understanding the product.

c) continual improvement.

d) knowing your competition.

Answer b
    (Total Quality Management 
Page 548)

12. Successful implementation of TQM involves:

a) Modification in the operational culture

b) Work process

c) Both a and b

d) Neither a nor b

Answer c
(Total Quality Management 
Page 548)

13. Deming's 14 Points include:

a) awarding business to suppliers on the basis of the best price.

b) correcting defects at the end of the production process.

c) establishing production quotas.

d) adopting a total quality philosophy.

Answer d
   (Deming’s 14 Points 

Page 551)

14. The implementation of TQM can not succeed unless:

a) the company is willing to undergo immediate radical transformation of all of its processes.

b) the company has extensive market research on its markets, competitors, and customers.

c) it is fully supported by upper management and has the involvement of the CEO.

d) the lowest level of employees are willing to implement the program from the very beginning.

Answer c
    (Deming’s 14 Points 

Page 551)

15. A danger of an excessive investment in inventory for the small business is:

a) excessive inventory taxes by local and state government.

b) minimizing reordering costs.

c) creating too quick a turnover of inventory.

d) tying up an excessive amount of the firm's capital.

Answer d
    (Quantity: The Economic Order Quantity 

Page 553)

16. Which of the following represents the cost of the units in the basic EOQ model?

a) Q/2 × H

b) D × C

c) D/Q × S

d) (L × U) + S

Answer b
    (Cost Of Units 
Page 554)

17. A small manufacturer of candle forecasts demand for upcoming year to be 20,000 which cost the company $1.00 plus $0.10 for packaging and shipping per candle which the company pays.  The total annual cost of units is:

a) $20,000.00

b) $20,000.10

c) $2,000.00

d) $22,000.00

Answer d
(Cost of Units 

Page 554)

18. Holding or carrying costs include the costs of:

a) ordering materials and inventory.

b) receiving and inspecting items and all administrative costs.

c) insurance, taxes, depreciation, etc.

d) processing a purchase order.

Answer c
    (Holding (Carrying) Cost
Page 554)

19. The formula for calculating the cost of carrying inventory is:

a) Q/2 × H

b) D × C

c) D/Q × S

d) Q/H × S

Answer a
    (Holding (Carrying) Cost 
Page 554)

20. ____ is one of the elements of the total inventory costs.

a) Demand

b) Set-up costs

c) Standing costs

d) Safety stock  

Answer b
    (Setup (Ordering) Cost 
Page 555)

21. Set-up or ordering cost is found by:

a) multiplying the average inventory times the set-up costs per unit.

b) multiplying annual demand times set-up costs for a single run.

c) dividing annual demand by the quantity of the inventory ordered, times set-up costs for a single run.

d) dividing the quantity of inventory ordered by holding costs, times set-up costs for a single run.

Answer c
    (Setup (Ordering)Cost 
Page 555)

Use the following information to answer questions 25 through 27:

Albemarle Sprinkler Company purchases the sprinkler heads for its line of lawn sprinklers from a supplier. Albemarle's production manager wonders how many sprinkler heads she should order for the next six months.  The company's marketing manager forecasts sales to be 29,400 units for the upcoming six months.  The purchasing manager has negotiated a price of $6.47 per head.  The production manager estimates that it costs $17.25 to place an order with the supplier and $2.97 to store a sprinkler head in inventory for six months.

22. What is Albemarle's Economic Order Quantity (EOQ) for the upcoming six months? 

a) 292 heads

b) 358 heads

c) 396 heads

d) 584 heads

Answer d
    (Quantity: The Economic Order Quantity 
Page 553)

23. Approximately how many orders will Albemarle place over the next six months if it uses the EOQ point?

a) 28

b) 50

c) 74

d) 82

Answer b
    (Quantity: The Economic Order Quantity 
Page 553)

24. What is Albemarle's total inventory cost using the EOQ point?

a) $191,954

b) $192,388

c) $192,166

d) $192,087

Answer a
    (Quantity: The Economic Order Quantity 
Page 553)

25. The Economic Order Quantity assumes:

a) a 30-day cycle in filling orders.

b) orders are filled instantaneously.

c) usage will impact delivery time.

d) none of these things.

Answer b
    (The Economic Order Quantity with Usage 
Page 558)

26. When shopping for a vendor, a small business owner should seek:

a) the best transfer of risk possible.

b) the lowest price.

c) the best price at acceptable quality.

d) to change vendors often in order to get the lowest price.

Answer c
    (Price 
Page 560)

27. A key element to Deming's 14 Points is:

a) ordering on the basis of price.

b) changing suppliers frequently.

c) conducting frequent quality inspections.

d) developing long-term relationships with vendors.

Answer d
    (Price 
Page 560)

28. Trade discounts are offered on the basis of the:

a) size of the order.

b) position of the business in the distribution channel.

c) time of payment.

d) type of payment.

Answer b
    (Trade Discounts 
Page 560)

29. ____ discounts are normally set up on a graduated scale and are based on a firm's position in the channel of distribution and on the functions it performs in that channel.

a) Trade

b) Quantity

c) Cash

d) Cumulative

Answer a
    (Trade Discounts 
Page 560)

30. The table below is an example of a _______ discount.


Order Size
Price
1–1,000 units
List Price

1,001–5,000 units
List Price–3%

5,001–10,000 units
List Price–6%

10,001 & over
List Price–10%

a) trade

b) quantity

c) cash

d) cumulative

Answer b
    (Quantity Discounts 
Page 561)

31. ________ discounts give customers an incentive to pay for merchandise promptly.

a) Trade

b) Quantity

c) Cash

d) Cumulative

Answer c
    (Quantity Discounts 
Page 561)

32. Small business people need to remember that:

a) there is an implicit cost of forgoing a cash discount.

b) they should avoid cash discounts.

c) by forgoing cash discounts they have more money for daily expenses.

d) cash discounts have hidden annual interest rates.

Answer a
    (Cash Discounts 
Page 562)

33. If a supplier offers 3/10, net 30 terms on a $500 invoice and the small business owner forgoes the discount, she is paying an effective interest rate of:

a) 3.8%.

b) 22.27%.

c) 36.18%.

d) 55.67%.

Answer d
    (Cash Discounts 
Page 562)

34. You have received a $2,000 invoice from the Acme Swampwater Company for raw materials to use in your beer manufacturing plant.  The terms are 3/10, net 60.  If you fail to take advantage of this discount, you are paying what interest rate?

a) 22.27%

b) 36.735%

c) 37.11%

d) 55.67%

Answer a
    (Cash Discounts 
Page 562)

35. The reorder point model requires that the small business owner know:

a) the usage rate, the minimum level of stock, the lead time, and the EOQ.

b) who the supplier is, statistical process controls, and TQM.

c) the demand pattern for the product, reliability and proximity of the supplier, and who has title.

d) holding costs for the product, the usage rate, and the three “Cs” of the product.

Answer a
    (Timing-When to Order 
Page 563)

36. The small business owner needs to know ________ in order to avoid stockouts and calculate safety stock.

a) the EOQ

b) the lead time

c) the minimum level of stock allowable

d) the usage rate

Answer c
    (Timing-When to Order 
Page 563)

37. A firm's reorder point for an item takes into consideration its ____, which is the difference between the time an order is placed and the time it is actually received.

a) minimum level of stock allowable

b) EOQ

c) usage rate

d) lead time

Answer d
    (Timing-When to Order 
Page 563)

38. Many small businesses build a/an ______, or cushion, into their inventories in case demand runs ahead of the anticipated usage rate.

a) safety stock

b) lead time

c) EOQ

d) stockout point

Answer a
    (Timing-When to Order 
Page 563)

39. The formula for calculating the reorder point of a product is:

a) Q/2 × H.

b) D × C.

c) D/Q × S.

d) (L × U) + S.

Answer d
    (Timing-When to Order 
Page 563)

40. The basic reorder point model assumes that:

a) the firm's inventory usage rate is constant.

b) the lead time varies.


c) safety stock is set at 5%.

d) the demand pattern is constant.

Answer a
    (Timing-When to Order 
Page 563)

41. A company whose reorder point model includes a 95% desired service level will experience stockouts ___% of the time.

a) 1

b) 5

c) 50

d) 95

Answer b
    (Timing-When to Order 
Page 563)

42. The consequences for the small business owner of a vendor certification program include:

a) using one supplier for the majority of their inventory needs.

b) guaranteed quality and price for selected items.

c) that the vendor will not supply components to competitors.

d) less government scrutiny and regulation of their business.

Answer a
    (Vendor Certification 
Page 572)

43. The creation of a vender certification program requires:

a) a vendor rating scale developed by the company.

b) a firm price list from the vendor, good for three years.

c) membership in the SBA vendor certification program.

d) understanding the firm’s EOQ.

Answer a
    (Vendor Certification 
Page 572)

44. The first step in developing a vendor certification process is to:

a) develop a grading scale for vendors.

b) identify the most important criteria.

c) create a list of vendors to be evaluated.

d) weight the criteria used to evaluate the vendors.

Answer b
    (Vendor Certification 
Page 572)

45. The vendor certification process assumes:

a) all vendors are charging the same prices.

b) the use of a cross-functional team to conduct the evaluation.

c) the business owner has detailed knowledge of the vendors.

d) vendors are publicly owned so information can be gathered on each of them.

Answer c
    (Vendor Certification 
Page 572)

46. When seeking suppliers, a small business owner should use which of the following sources?

a) Competitors

b) The local telephone directory

c) The industry trade association

d) All of these

Answer d
    (Vendor Certification 
Page 572)

47. If a small business owner wanted an international vendor, he/she could use:

a) MacRae’s Blue Book.

b) Kelly’s Manufacturer and Merchant’s Directory.

c) Thomas Register.

d) Sources of State Information and State Industrial Directories.

Answer b
    (Vendor Certification 
Page 572)

48. The advantages resulting from concentrating purchases with a single supplier include:

a) protection from fraudulent vendors and excess inventory.

b) a longer lead time. 

c) lower usage rates.

d) the ability to negotiate the best price package.

Answer d
    (Price 
Page 560)

49. ____ is the right to ownership of property and, for a small business owner, determines who has responsibility for ownership.

a) Identification

b) Risk of loss

c) Concept of title

d) F.O.B.

Answer c
    (Title 
Page 577)

50. The first rule governing transfer of title and risk of loss states that:

a) title transfers to the buyer as soon as the goods are delivered.

b) the buyer has both title and risk of loss as soon as the goods are paid for, regardless of their physical location.

c) the supplier and small business may agree to a shift of the risk of loss at any time during the transaction between them.

d) title transfers to the buyer as soon as the goods are in the hands of the carrier.

Answer c
    (Title 
Page 577)

51. Newton orders 14 electric staplers for his office supply store from Home Office Suppliers.  The contract specifies shipping terms as "F.O.B. Home Office Suppliers."  Home Office Suppliers delivers the goods to Zippy Shippers and invoices Newton.  The electric staplers never arrive, and Newton refuses to pay Home Office Suppliers.  Home Office Suppliers sues Newton for the contract price of the staplers.  Who wins?

a) Newton, because it wasn't his fault that the staplers never arrived.

b) Home Office Suppliers, because they were the last ones to touch the goods.

c) Newton, because in an F.O.B. contract, the risk of loss does not shift to the buyer until the goods are actually delivered to the buyer.

d) Home Office Suppliers, because in an F.O.B. seller contract, risk of loss shifts to the buyer when the seller delivers the goods to the carrier.

Answer d
    (Risk of Loss - Rule 2. F.O.B. seller
 
Page 577)

52. Buyer owns a retail shop in Baltimore.  Seller is a manufacturer in San Diego. Buyer orders from seller to be shipped "F.O.B. San Diego."  Risk of loss passes to the buyer when:

a) the seller delivers the goods to the carrier.

b) the goods are identified to the contract.

c) the contract is made.

d) the goods are delivered to the buyer's retail shop.

Answer a
    (Risk of Loss - Rule 2. F.O.B. seller

Page 577)

53. "F.O.B. seller" means that:

a) title passes to the buyer when the seller delivers the goods to the buyer.

b) risk of loss transfers to the buyer when the seller delivers the goods to the carrier.

c) the seller pays all shipping and transportation costs.

d) the buyer has both title and risk of loss as soon as the goods are paid for, regardless of their physical location.

Answer b
    (Risk of Loss - Rule 2. F.O.B. seller 

Page 577)

54. "F.O.B. buyer" means that:

a) title passes to the buyer when the seller delivers the goods to the shipper.

b) risk of loss passes to the buyer when the seller delivers the goods to the buyer's place of business.

c) the buyer pays all shipping and transportation costs.

d) both title and risk of loss pass to the buyer immediately upon payment of the contract regardless of location of the goods.

Answer b
    (Risk of Loss - Rule 3. F.O.B Buyer 

Page 578)

55. The responsibility for verifying the identity and condition of merchandise:

a) is the seller’s.

b) is the carrier’s.

c) depends on the nature of the contract between buyer and seller.

d) is the buyer’s.

Answer d
    (Receiving Merchandise 
Page 578) 

56. The small business gains what advantage by selling on consignment?

a) Shorter lead time when reordering than with standard contracts

b) Better customer service

c) Not bearing the risk of loss for the consigned goods

d) Receiving absolute title to the goods prior to paying for them

Answer c
    (Selling on Consignment 
Page 578)

57. The kaizen philosophy holds that:

a) Once an improvement is implemented, no other im​provements are necessary.

b) Small im​provements made continuously over time accumulate into a radically reshaped and im​proved process.

c) Major improvements made continuously over time accumulate into a radically reshaped and im​proved process.

d) None of the above

Answer b
(Quality 
Page 553)

58. TQM is not a _________ or ________ program that can magically push a company to world-class status overnight.

a) quick-fix or short-term

b) quick-fix or long-term

c) long fix or long term

d) None of the above

Answer a
(Total Quality Management 
Page 548)

59. What are the two basic tenets of TQM?

a) employee involvement

b) teamwork

c) technology

d) All of the above

e) Both a and b

Answer e
(Shift from a management-driven culture to a participative, team-based one 

Page 549)

60. One of the most important factors in making long-term, constant improvements in a company’s processes is ___________ the philosophy and the tools of TQM.

a) Teaching customers

b) Teaching workers

c) Teaching vendors

d) Teaching manufacturers

Answer b
(Shift from a management-driven culture to a participative, team-based one
 
Page 549)

61. Pareto’s Law (also called the 80/20 Rule), states that:

a) 20 percent of a company’s quality problems comes from just 80 percent of all causes.

b) 80 percent of accounts receivable comes from 20 percent of customers.

c) 80 percent of a company’s quality problems arise from just 20 percent of all causes.

d) 20 percent of a company’s revenue comes from just 80 percent of all customers.

Answer c
(Use Pareto’s Law to focus TQM efforts 
Page 550)

62. To implement TQM successfully, a small business owner must rely on 10 fundamental principles.  One principle states:

a) Share information with everyone in the organization.

b) Information needs to be handled by only the top management.

c) Information needs to be handled by only the lower level workers who deal with the products everyday.

d) All of the above

Answer a
(Total Quality Management 
Page 548)

63. Determining factors of setting up or ordering costs for products are:

a) The various expenses incurred in actually ordering materials.

b) The various expenses incurred in actually ordering inventory.

c) Setting up the production line to manufacture.

d) All of the above

Answer d
(Setup (Ordering) Costs 
Page 555)

64. Setup or ordering costs are found by multiplying:

a) the number of orders made in a year by the cost of placing a single order

b) the number of production runs in a year by the cost of setting up a single production run

c) Both a and b

d) Neither a nor b

Answer d
(Setup (Ordering) Costs 
Page 555)

65. The EOQ formula simply balances the ordering cost and the carrying cost of the small business owner’s inventory so that total costs are _______.

a) Optimized

b) Minimized

c) Maximized

d) Calculated

Answer b
(Solving For EOQ 
Page 556)

66. The small business owner who sells merchandise on a consignment basis realizes the following advantages except:

a) The owner does not have to invest money in these inventory items, but the merchandise on hand is available for sale.

b) The owner does not make payment to the consignor until the item is sold.

c) Because the consignment relationship is founded on the law of agency, the consignor never takes title to the merchandise and does not bear the risk of loss for the goods.

d) The supplier normally plans and sets up displays for the merchandise and is responsible for maintaining it.

Answer d
(Selling on Consignment 
Page 578)

67. Improving quality:

a) Lowers the associated cost with scrap

b) Reduces rework time

c) Increases worker productivity

d) All of the above

Answer d
(Quality 
Page 547)
68. Generally, quality control impacts:

a) Revenues

b) Gross profit

c) Reduction in costs

d) All of the above

Answer d
(Quality 
Page 547)
69. Which of the following are the categories of quality?

a) Vendor based 

b) Distribution based

c) User based

d) None of the above

Answer c
(Quality 
Page 548)

70. Which of the following statements is correct?

a) Benchmarking is the process of calculating carrying cost, EOQ and other inventory management procedures and being able to compare it to others.

b) Benchmarking is the process of identifying world-class processes or procedures currently being employed and building higher quality standards around these for your firm.

c) Benchmarking is the when a firm evaluates all its supply chain management for higher quality and price.

d) All of the above.

Answer b
(Total Quality Management 
Page 548)
71. To give employees a sense of how the quality of their job fits into the big picture, many TQM companies engage in:

a) Paying more to their employees

b) Hiring a more qualified employees with advanced degrees

c) Offering cross-training

d) All of the above

Answer c
(Total Quality Management 

Page 548)
72. What types of charts are used for statistical process control techniques?

a) Control charts

b) Fishtake charts

c) TDQ charts

d) None of the above

Answer a
(Total Quality Management 

Page 548)
73. Which of the following cost typically is included in obtaining materials and inventory?

a) Receiving and inspecting

b) Handling

c) PO processing

d) All of the above

Answer d
(Setup (Ordering) Costs 
Page 555)
74. Which of the following statements is correct?

a) Supply-chain management includes hiring the qualified HR Director

b) Supply-chain management includes all the activities that produce goods and services and delivers them to the customer.

c) Supply-chain management includes providing quality service.

d) All of the above

Answer b
(Price 

Page 560)
True or False Questions
75. Most entrepreneurs can neglect the purchasing function because they buy so little from vendors they don't gain anything by spending time working on improving it.

Answer F
    (Introduction 
Page 546)

76. Savings of 5% in the purchasing bill can add 3% to the net profit.

Answer T
    (Quality 
Page 547)

77. The purchasing plan should identify a company’s quality requirements, its cost targets, and the criteria for determining the supplier.

Answer T
    (Quality 
Page 547)

78. The purchasing plan is developed independently from other functional areas of a business.

Answer F
    (Quality 
Page 547)

79. The quality message is getting out, 85% of managers in mid-sized companies calculate the cost of quality for their business.

Answer F
    (Total Quality Management 
Page 548)

80. Total Quality Management (TQM) defines world-class quality at a 99.1% level of quality.

Answer F
    (Total Quality Management 
Page 548)

81. Once the merchandise is received, it is not necessary for the buyer to verify its identity and condition.

Answer F
    (Receiving Merchandise 
Page 578)

82. Proper con​trol techniques in receiving merchandise prevent the small business owner from paying for suppliers’ and shippers’ mistakes.

Answer T
    (Receiving Merchandise 
Page 578)

83. The busi​ness owner (called the consignor) may return any unsold merchandise to the supplier with​out obligation.

Answer F
    (Selling on Consignment 
Page 578)
84. The implementation of TQM is relatively simple in that other than training managers and employees little else needs to be changed in the company.

Answer F
    (Total Quality Management 
Page 548)

85. Statistical process control is central to the success of Total Quality Management efforts.

Answer T
    (Total Quality Management 
Page 548)

86. Implementing TQM means a radical change in the management of information in that much more information must be shared with workers.

Answer T
    (Total Quality Management 
Page 548)

87. Another process central to the successful implementation of TQM is identifying the individual(s) responsible for any mistakes as part of fixing the immediate quality problems.

Answer F
    (Total Quality Management 
Page 548)

88. Successful Total Quality Management (TQM) requires leadership from the top.

Answer T
    (Total Quality Management 
Page 548)

89. In today’s competitive marketplace, an entrepreneur should not expect that every vendor be able to demonstrate that they operate a continuous improvement process.

Answer F
(Vendor Certification 
Page 572)

90. When implementing TQM, managers should remember that change and turmoil are essential elements of the implementation.

Answer T
    (Total Quality Management 
Page 548)

91. The inventory investment is usually the largest single investment for a small firm.

Answer T
    (Holding (Carrying) Costs 

Page 554)

92. It is better to maintain too little rather than too much inventory because there are significant storage costs for excess inventory, but few if any costs associated with understocking inventory.

Answer F
    (Holding(Carrying) Costs 

Page 554)

93. The cost of units is simply the typical costs involved in having units in storage. 

Answer F
    (Cost of Units 
Page 554)

94. Although there are many costs associated with carrying large levels of inventory, the opportunity costs of large inventories are virtually nonexistent.

Answer F
    (Quantity: Economic Order Quantity 
Page 554)

95. Depreciation costs of holding inventory represent the reduced value of inventory over time.

Answer T
    (Holding (Carrying) Costs 

Page 554)

96. Spoilage, obsolescence, and pilferage are all part of the set-up costs of inventory.

Answer F
    (Holding (Carrying) Costs 

Page 554)

97. When thinking about inventory holding costs, remember that the greater the quantity ordered, the greater the inventory carrying costs.

Answer T
    (Holding (Carrying) Costs 

Page 554)

98. Set-up costs are the expenses incurred in the actual ordering of materials and inventory, or in setting up the manufacturing line.

Answer T
    (Setup Costs

Page 555)

99. In the basic EOQ model, the higher the economic order quantity, the greater the number of orders placed.

Answer F
    (Economic Order Quantity(EOQ) With Usage 
Page 558)

100. The EOQ solution balances the ordering costs and the carrying costs of an inventory item so that total costs are minimized.

Answer T
    (Solving For EOQ 
Page 556)

101. The best way to minimize carrying costs is to order as many units as possible in each order.

Answer F
    (Cost of Units 
Page 554)

102. To minimize ordering costs, the small business should place as few and as large orders as possible.

Answer T
    (Solving For EOQ 
Page 556)

103. The advantage of the EOQ with usage calculation is that it takes into consideration that the inventory order does not arrive at the same time.

Answer F
    (Economic Order Quantity With Usage 
Page 558)

104. Total inventory cost is maximized when carrying cost and ordering costs are balanced.

Answer F
    (Solving For EOQ 
Page 556)

105. The best purchase price is the lowest price at which one can obtain goods and services.

Answer F
    (Price 
Page 560)

106. The problem with the shoes thrown into the container from China was one of miscalculating the correct EOQ with usage point.

Answer F
    (Gaining the Competitive Edge 
Page 571)

107. As the shoe shipment from China shows, sometimes understanding of the language used is as important as all the quantitative methods used when shipping the product.

Answer T
    (Gaining the Competitive Edge 
Page 571)

108. Selling terms are as important to the small business as the actual price of the goods and services being purchased.

Answer T
    (Price 
Page 560)

109. Trade discounts are offered within the distribution channel and are on a graduated scale.

Answer T
    (Trade Discounts 
Page 560)

110. A noncumulative quantity discount grants a discount if a large enough volume of merchandise is purchased in a single order.

Answer T
    (Quantity Discounts 
Page 561)

111. Cumulative quantity discounts are provided to members of the distribution channel in recognition of the services they provide the manufacturer.

Answer F
    (Quantity Discounts 
Page 562)

112. Cash discounts are offered to customers as an incentive to pay for merchandise promptly.

Answer T
    (Cash Discount 
Page 562)

113. "3/10, EOM" means a 3% discount can be taken if the bill is paid by the tenth day of the month after the purchase.

Answer T
    (Cash Discount 
Page 562)

114. Generally, business owners should not be lured into taking cash discounts vendors offer; that cash could be put to better use elsewhere.

Answer F
    (Cash Discount 
Page 562)

115. As it is a good idea to take advantage of discounts from vendors, small business owners ought to stretch accounts payable to at least the first notice of past due.

Answer F
    (Cash Discount 
Page 562)

116. The advantages of developing close, cooperative relationships with a single supplier outweigh the risks of sole sourcing in most cases.

Answer T
    (Final Decision 
Page 575)

117. Selling on consignment means that the small business owner does not purchase the merchandise car​ried from the supplier (called the consignor).

Answer T
    (Selling on Consignment 
Page 578)

118. If a vendor offers a firm 2/10, net 30, and the firm doesn't take it, the firm is paying an interest rate of over 36% on an annual basis.

Answer T
    (Cash Discount 
Page 562)

119. The time gap between placing an order and receiving is called lead time.

Answer T
    (Timing-When to Order 
Page 563)

120. The cushion owners build into their inventory to prevent stockouts is called demand stock.

Answer F
    (Timing-When to Order 
Page 563)

121. The simple reorder technique assumes that the rate of usage is constant and that lead time is constant.

Answer T
    (Timing-When to Order 
Page 563)

122. Because of its assumptions, the simplest reorder model is no longer valid or useful to the small business owner in today's dynamic business environment.

Answer F
    (Timing-When to Order 
Page 563)

123. The formula for calculating safety stock is: safety stock = SLF × SDL.

Answer T
    (Timing-When to Order 
Page 563)

124. The appropriate service level factor in the safety stock calculation is called the Z score.

Answer T
    (Timing-When to Order 
Page 563)

125. The vendor certification program is an effort by the SBA to protect small businesses from unscrupulous vendors.

Answer F
    (Vendor Certification 
Page 572)

126. The purpose of a vendor certification program is to create a list of acceptable vendors that the small business owner can spread his/her orders among to avoid stocking out due to delays in shipments.

Answer F
    (Vendor Certification 
Page 572)

127. A small business owner seeking suppliers can find lists of products and services, along with the names, addresses, telephone numbers, and ratings of manufacturers, in either Thomas Register of American Manufacturers or MacRae’s Blue Book.

Answer T
    (Vendor Certification 
Page 572)

128. The small business owner should concentrate purchases at a single supplier.

Answer T
    (Number of Suppliers 
Page 575)

129. “Identification” is the designation of goods as the subject matter of the sales contract.

Answer T
    (Identification 
Page 577)

130. Risk of loss always passes with title to the goods.

Answer F
    (Title 
Page 577)

131. Under the Uniform Commercial Code, the party who has title to goods also has the risk of loss if those goods are lost, damaged, or destroyed.

Answer F
    (Title 
Page 577)

132. Seller and buyer can agree to the terms under which title and risk of loss shift in a business transaction.

Answer T
    (Risk of Loss: Rule 1 
Page 577)

133. In an "F.O.B. seller" (shipment) contract, both title and risk of loss transfer to the buyer when the seller delivers the goods to the carrier or shipper.  

Answer T
    (Risk of Loss: Rule 3. F.O.B seller 
Page 577)

134. A sales contract designated F.O.B. buyer requires the seller to deliver the goods to the buyer's place of business (or some other designated location), and risk of loss does not pass to the buyer until the goods are so delivered.

Answer T
    (Risk of Loss: Rule 3. F.O.B Buyer 
Page 577)

135. A buyer gets an insurable interest in goods once they are identified as the goods pertaining to the contract.

Answer T
    (Insurable Interest 

Page 578)

136. Both a buyer and a seller cannot have an insurable interest in the same goods.

Answer F
    (Insurable Interest
 
Page 578)

137. A consignment contract means that the supplier (i.e., the consignor) retains title and risk of loss for the consigned merchandise.

Answer T
    (Selling on Consignment 
Page 578)

138. Selling through a consignment contract allows the small business owner to delay payment to the consignor until an item is sold.

Answer T
    (Selling on Consignment 
Page 578)

139. Quality has an impact on both costs and revenues.

Answer T
(Quality 
Page 553)
140. Employing a technique entitled benchmarking is not very useful in achieving quality outcomes. 
Answer F
(Total Quality Management 

Page 548)

141. Teams of employees working together to identify and solve problems can’t be a very powerful force in a small organization.
Answer F
(Total Quality Management 

Page 548)

142. To give employees a sense of how the quality of their job fits into the big picture, many TQM companies engage in cross-training, teaching workers to do other jobs in the company.
Answer T
(Total Quality Management 

Page 548)

143. The analytical tech​niques used to determine economic order quantities (EOQs) will help the manager compute the amount of stock to purchase with an order or to produce with each production run to mini​mize total inventory costs. 

Answer T
(Quantity: The Economic Order Quantity (EOQ) 
Page 553)

144. The costs of obtaining materials and inventory typically include preparing purchase orders; analyzing and choosing vendors; processing, handling, and expending orders; receiv​ing and inspecting items; but not performing the required accounting and clerical functions. 

Answer F
(Setup (Ordering) Costs 
Page 555)
145. Smaller firms must usually pay market or list price for items that are of lower value and purchased infrequently.

Answer T
(Final Decision 
Page 575)
Essay Questions

146. Discuss the purchasing plan, briefly describing each of the five key elements of the plan.

(The Purchasing Plan 

Page 546)

147. Explain the philosophy of Total Quality Management, naming the ten things a small business owner should do to successfully implement a TQM program.

(Total Quality Management 
Page 548)

148. Outline Deming's 14 Points.

(Deming’s 14 Points: Table 17.2 
Page 551)

149. Discuss the concept of the economic order quantity.  What is its value to the small business owner and what are the three principal elements needed to calculate it? Offer an example calculation.

(Quantity:  The economic Order Quantity 
Page 553)

150. How does the EOQ with usage differ from the standard EOQ? Why is this difference important to the small business owner?

(Quantity:  The economic Order Quantity 
Page 553)

151. What should the role of price be as an element of the purchasing process?

(Price 
Page 560)

152. Identify and briefly describe the types of discounts a small business might receive from a manufacturer.

(Trade Discounts 
Page 560)

153. What does the small business owner give up if he/she doesn’t take advantage of a vendor's discount? Demonstrate by calculating the interest rate on a $12,000 invoice that is 3/10 net 30.

(Trade Discounts 
Page 560)

154. Timing is a critical element of the purchasing process. Explain the various elements of the timing of purchases: usage rate, stockouts, safety stock, reorder points, and demand patterns.

(Timing – When to Order 
Page 563)

155. Compute the reorder point for a small business owner using the following data.

· Lead time 
=
7 days

· Usage rate
=
28 units/day

· Safety stock
=
56 units

· EOQ

=
740 units

(Timing – When to Order 
Page 563)

156. What is a vendor certification program and why would a small business owner use it?

(Managing the Supply Chain:  Vendor Analysis and Selection 
Page 569)

157. Discuss finding a vendor, including both sources of information and the primary criteria for selecting a vendor.

(Managing the Supply Chain:  Vendor Analysis and Selection 
Page 569)

158. It is important to understand transfer of title and the risk of loss when discussing purchasing. Discuss the three concepts that explain the concept of title, including the rules that affect the passage of title and risk.

(Legal Issues Affecting Purchasing 
Page 577)
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